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What I have done

I made B-field in the direction perpendicular to PMT’s
photoelectric surface.

Then, I measured PMT's efficiency.
I defined this red arrow as positive direction of B-field.

I used three types of B-filed:-900 uT, O uT, and 900 uT
I measured the efficiency in each .
B-field two times.
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The number of clock generator’s signal for ten mins.
This frequency is 1 kHz. Efficiency

o
'S

count
H99767 o2

0.25

0.35

efficiensy

0.2

red : 1sttime _,
black: 24 time

0.05

Illllllillllll]ll”[lllllilll]lIIIIIIIT

0 l ] 1 L I 1 1 1 1 l 1 1 1 1 | 1 1

-500 0 500

—
o
[=
o

Efficiency of PMT

-900uT  -900uT2 OmT OmT2 900uT  900uT?2
count 39496 38588 172074 143646 382079 01464
efficiency 0.065852 0.064338 0.286901 0.239503 0.136851 0.10248
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To the next

« I'm going to measure PMT's efficiency in lower B-field.

* I'm going to make B-field in the direction parallel to PMT's
photoelectric surface and measure PMT's efficiency.

Note: Earth’s magnetic field is about 30 uT.



